kSvsy - 24—)LF#EHE

- R -

ERERER B ET)

No.1

Bty =50 T2 5FEF TAFARBAIELRERS 2— R FHE
T (A hhERAEER EnhiELHRS 2— R 22030 e AT
I B R, wn | iR, wa | M wmoens i e | ) mons sk
00/ 28| FFE B+ GEEES EEILEr 2753 || 2 FIE 27080 || 3 | TER E3/ I BEEEE] 125007
1%£100m
AT Bma 37505 || 6 @A AV RS RE 3F12 8|08 HA 137016
09/28[FZER T T[E3 BHA T TI#050 || 2|E TS T8 |3|E7 =@ e 12000 (4|F@ M5 12812
24100m
INEIKIEA = 125019 || 6 % 128029 || 7|17k xHm % 128041 8(E2@m Z=Tt 12778
00/ 28| FFE B 1 B BA 23577 |[2]2 =7 N BEEREES =2 247712 || 4 /B KIETT 245590
200m
Nk AW 258047 |6 i 258070 [[7|"EZZUR 157 25874 [ 8|LA BEMR 26%054
09/28[ P EE B F Bl BHE 545578 | 2 EREIL 558058 || 3 [N TAC [ 55771 || 4|LA ER 563051
400m
EEES 567055 || 6 =@A 585089 || 7|38 EA RE 50735 |8 |3E B 175105540
09/ 28| FRERT HF BEXA 253063502 || 2 =S IATB03 |3 AR R 323 2513 12| 4| 0| = 25 167536
800m
TE %t 25316837 6 B 2516854 | T[IA kB E 25319502 || 8 [R AT E— 253197057
09/ 28| FRERT A 4540871 2 EDi 453407518 || 3 |18 TR F S RRB0| 488 mk 15831023
141500m
L 45447586 6 FIH IHEH0| 158 BA =0 4553151 |8 |[HE B8 45355%550
09/ 28| PR ERT TN R 45329559 2 T3S IR30850 | 3 |FE BA B A G 153317057
241500m
BR EA 455327521 6 |2 ER XY M o 155805046 || 8 |ZEAI— 15380543
09/ 28| PR ERT HF BEA 953153504 || 2 o3 9524004 | 3 | PR BA B R ATIDA || 4 | A R 95 477549
3000m
_13*3—;*: DN 94355001 6 =EE 95597048 [ 7 SR ERE—EH =] 105300%050] 8 |[HiF $RC 104057008
09/28| FFE BT =F BE 6129 | 2 R o163 || 3 |1 ATRIME ST i TOm18 | 4|28 hRE 0137
110mH
HE W= 0071 (638 T 20807 || 7|ER 1&EA BE 20728 R B
09/28| FFE BT IR BE 1 T LA BZ 1 RE BT 1
4 x 100mRIE EEEAS 1[5 50738 [ 2 1| =ema 50871 || 3 [/MvmEisA 1 |ZEA 51Fb02 4|88k =zh 1 517084
AR 1 1 BT EE 1 gE 1
B BA 1 1 HE e 1 N EE 1
k1 2 1 mE BE I ILRBEARR 1
INER —Ek 1 51793 (6|7 1= 5258 [[7(AK REth 1|1B%& 52§92 |[8]; Ea 1 53%49
M R 1 mA EHx 1 tE KE 1




fSwH - 24—IJLFEE - RE -

ERERER B ET)

No.2

bt B 2 [22] pitias  FR25EE WRHFAREASELBERAS FHE
ERsill SETL & hNEBRAEESR iy ERTRERRS 22030 | T
A e oS [ s B 4 wa | M wmoens e | ) wmwens ek
00728 FFERT | R T ) BA Rt 2 WA BT 2 % B8 2
4% 100mR 1|2 BE 2|55 Bl BE 2|& 47815 || 3| EER 2 47875 |4|KEE BE 2 48700
WA BER 2 NE &% 2 Bl RH 2 NGFE B 2
FH 5 2 i BA 2 AEEKS 2 R MREE 2
B B 1 EK R 2 WEIXA 2 BR BA 2
W #wEe 2 (@5 wIl OEH® 2 48%049 | 7|4hL £z 2 487065 |[8|BAARAKEA 2 49F044
INAREE 2 BB WK 2 > wE ER 2
_ 2@ F+ 2| AT A+ 2 ME=Za5ZR 2 Bl B 2
00728 ifgﬁ%% EYE I EE AT AL 2 W60 || 3|k e 2 o5 || 3|88 B 2 Tm55
=
TH BA 2|52 RAEAE 60 || 7| =& s | 8|F@E X& 1 Tmd5
09/28 qu%ib%% R E ‘A 2|B= o Bk O KIE TIPS 2m00
09/28 E‘f%ﬁ%% 3] EM gerE = YT tm32 || 3|0 AR 5m21 || 4 |5k RAER B2
) FE =T 2|&H B BA m? | 7|hE ER mi9 8% a4
09/28 giﬁ%% gy % RT 2|68 *E BE Tomi5 || 3|/ EFE TomiT |4 |®%& BIE om26
B3
nE == 2|2R@ RIE FERE g0 |7 |RE BEZ 835 | 8|RI B 7m86
09/28 qufzﬁa EYE3 EARRT 1 |AB REFIA T 3087 || 3| F07E 396 | 4|XE =4 137597
14:100m
L w1 BR Bm 422 1|28 Bx 1428 |8|HE && 147534
09/28 qufzzz% EY3 nE =zx 2| T S 3064 |3 |BEBERT 388 | 4|AE BT 137599
24£100m
HE =R =1l BA WME 4706 |7 |[tA &= 4709 |8|BH T& 147541
00/ B|FFELRT | R EERRT 1|50 T S 287055 || 3 |[HE B IR 60 | 4|k BE 287586
200m
=SR0OEH  2|B6m BF T8 29560 | 7|28 EE 30805 | |=E Bx
09/28 gggﬁzzx% gz s BRI |mE ABE Fx 252832 | 3 |EXm = IR 20081 | 4| BA RE 75 297556
m
TLE@E 2|26 RE =& I532BB| T| Rk =K 15533041 || 8 | ELHP# 27530795
09/28 {4;0:7*_052::% gz nH BE 2|82 Tl BE 5510048 3|8 B2 551408 | 4B BE 525 147560
m
NE RZE 1|65 A A 55516065 7|e@ Bx SR |8 |BRILBE 551759
09/28 %?Ek% gz nE =z 2| HE =R 5582 |3 |AE BT 652 || 4 |F EmHm 167554
mH
T By 1 |2R BR RY 8702 |7 |RBEER 837 |8|B& TR 17572




No.3

bSwY - D4—I)LFiEHE - RB - SEERR B FE T)
bt B a— (2] gy FHR25FE TAHFAREASBELIHEAS a— R FHE R
A SETHERAR  POPRAEER By SRR RS a—k 22030 | Gegrfe A g
ner| e[ ma | W s P wr | M wmoens P wa | M wmoens P e | ) wmwens P sk
09/28[ FFERTF | Rbs BHEOD ] W | I ZE AO |
4 100nRIE =T _&n 1= 5468 |2|mM BE 1|48 56100 3|8k ER ||BE 56972 | 4|pmE EE 1|EEES 567487
EEGSH hE &P | NE FR MR B |
| |mE Em EREHT | REFAT | RE_HE
MEAEE | Eall B 1 £H WE | NEEHRE
s|En =z | lwmmsm | SR |o|HE @E  1|ER sM52 |7|7% mE 1|2 57804 |8|XE e 1|maEmm | 5w
. BA HE | ABEEE | %@ BT
_ _ AIEED | G PR x| BE_E |
OBFEERT | R B 2 AR 2 0% Fa 2 =% WA 2
4 100 1@&s Ba 2| 523 |2|A5 27 2|#a 5430 |3|E FB 2|2 samel |4[an A 2 |mmmm | 5w
HE =5 2 BE Bt 2 #E KB 2 E & 2
T ) EfpYs ) xlE BE 2 il SE 2
®E R 2 WE ®x 2 TH 2 2 BE HE 2
5| MHhEh 2|2iEmE 557002 | 6|iEBk Hx 2(PH 567021 (7| KM ®mIH  2|EE 567039 (18|AJI XX 2(EHEA 567062
EE BT 2 FREfE 2 BAREE 2 i HE 2
_ _ EsEm 2 2E S 2 ‘ 2 EEH M )
OBEEERT | B IEEETRIEL W5 [Z[6H BR 2[EEF T |Z[R EHE 1| EEEE T [Z|ZER5A 1= T
S
- 5| EA - 1m35 5% =B 1|2 1m35 TIXHg EX 2|2H 1m35 8|fFRmFE 2(PH 1m30
WRTEEEF | B TER B Z[5E Wes | Z[H WE  Z|RE W |3I[ER MR B W3 | AT EE T|RE w29
Bk
) 51RE xRk 2|2H 4m13 6|Ex WE 2|2RED 4m10 T/ EO2|AE 4m06 8|RJII Ry 2(Z 4m05
OBEEERT | R &% &% Z[5E W0 |2[EE ER 2[EW BT |3[ER PE I|BE B9 | EE 7| ERRE oG5
AR
SR %E 2[(52 Tmb9 6|5%EB BHH 2 |A B ma7 T|&B 705 2 |FlE m27 8RBl & 1|FE 6m98




